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CT =2V6a (. CT > 0)
$72, ABTCco ATAC &V, BT: TA=BC:TC
8:x=28a:2V6a

z=2V6

[10]) (1) 2 AED I2BW\C, WHEOER LY
/CDF =b+c¢

A CDF 2B\ T, SMaoER LD
/BCD = ZCDF +a

FHCEES 2 UATEOME L D
ZBCD + ¢ = 180°

UEXD, (b4+c¢)+a+c=180°

£oT, a=180° — b — 2¢c

a=bthbLE,

a=180°—a—2c & %5HDT, a=90°—c

CHUIA ABF PEA=ZABE 2L E2ERLTEY,

AB1BC, CDIAD D& E ThHA.

(2) AEBCoo AEDA £V, EB:ED=BC:DA = CE: AE
24:(5+CD)=2:DA=5:10
SRED, CD=3 DA—4
W2, CF=2, FD =y & B<.
AFCDco AFAB &), FC:FA=CD: AB=DF : BF
Lri(y+4)=3:6=y:(x+2)
INEY, y+4=2z, 2y=2+2. TNERNT, o=

roc, cF=20 gp=28
3 3

10 o _ 38
3'9773
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2-4

18
y=—sz+
37 3 y

[11] (1) y

2) P, Q& x#hkokiz A, C
L. MOBEROME LY,
AR = AR
CR =CR
LoT, AC=A'C
F72, A(—4,0), C'(2, 0) &b,
AC =6

£o7T, AC=6

3) AP, QL ythetpEnizzhe A, C" L35, MOBEHROEELY,
AB = BA”
BC = BC”
OA” = OA’
oc” =o'
LT,

AB = BA”
=BO — 0OA”
=BO — OA’
=b—4

BC = BC”
=BO - OoC”
=b—2

(4) (3) &b,
AB=b—4
BC=b-2
XoT, AC=AB+BC=2b—-6
(2) &b, 2b—-6=6 WzIZ, b=6
Wi, HRIZEH PQ HIZHBHDT,
PR &, ZARA' O 5554
QR 1, ZCRC' D545
E0, P, Q RIZ—EHLIZH L.
1 8

(1) &Y, 0=—5o++

INEFNT, =28
b, RS, 0) 725, 24 B0, 6), R(S, 0) %585 Ff & kT,

3
=—>2+6
y i
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[12] M Oy 2B M AB T 2MEMLY, ZAQB I3—%E --- @

FEC, Oy ICBUAMEMELY, ZAPB b—3%. ¢
Z/QPB =180° — ZAPB 4 —%&---®

®, @&, ABPQ D3 20O RKEEIF L
OBEICEDLLT—%E. Thbb, ABPQ X
WIZ—EOMPEERD. £OH T, PQ %k
KIZT250F, PBERKIZTLHDOTHH
%. PBIEM O O TH D55, duls O %l
HEEICRRICEDL, 2ok E, /PAB 1M
O HHE DT, 90° L7b. LoT,

A B
AB L 05D E5I2L%B11H1E, PQOES% \Qi::::;j7
HRICTAHAZENTE A,

(ZokE BQIM O, DEZFELELLDT, BQOEZIZOWTERELTL IWw.)

Q

(13] Ko X512, MEZ LD, E &Lk T~ 7T TS

LCH A, B &MAME LI P % L i Y A0
iX, ZAPB=135° L% 5. 7 \
FE OWIIZH P % & it ZAPB / N ‘
I 135° 2BATLEWV, MEO | Q

bR S v, Lz o T, 270° \\\ ///
ZAPB < 135° £ %4 % 121dM E o4t / /
HIZHP 2L UE L, WO LA B~ ¢

/BPC, Z/CPD, /DPA I2oWCHEx
HDT, HOFHFE 2 BR3P 2 & U L.
FHREEBIZIE i ABCD 12T A M S IE B2 BV 230 omifE L & L wo T,

2
WX(Q) -1
2
o 11 (L _1)=2_T
L oT, ko HRIE 1 (2 1) 22
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